Page 17 of 47

SFG 2021 - Level 3 | Test 1 — Solutions | Foruml|AS

Statement 3 is incorrect: Cyclone Tauktae (pronounced Tau-Te), classified as a very severe cyclonic storm
(VSCS) but it developed in the Arabian Sea.

Cyclone Tauktae (pronounced Tau-Te) hit southern Gujarat of the country. Cyclone Tauktae’s name was
suggested by Myanmar. Tauktae means a highly vocal lizard gecko.

Knowledge Base: Cyclone Yass has been classified as a very severe cyclone. Cyclone Yaas is the first cyclonic
storm to develop over the Bay of Bengal in 2021. Cyclone Yaas crossed the northern Odisha coast around 20 km
south of Balasore at its peak intensity as a very severe cyclonic storm.

Source: https://blog.forumias.com/cyclone-tauktae-expected-to-hit-gujarat/
https://blog.forumias.com/disaster-news/cyclones-news-and-
updates/#:~:text=Firstly%2C%20Low%2Dpressure%20Area%3A,17%20knots%20(%3C31%20kmph)&text=Thir
dly%2C%20Deep%20Depression%3A%2028%20to,knots%20(89%20t0%20118%20kmph)https://www.deccanh

erald.com/national/explained-how-imd-categorises-cyclones-989000.html

Q.16) With reference to the Preamble of the Constitution, which one of the following would you accept as the
most appropriate definition of Justice?

a) It means providing unrestrained freedom for the development of individual personalities.

b) It means providing special privileges to people from the weaker sections.

c) It means equal treatment of all citizens without any social, economic and political distinction.

d) It means promotion of harmony and brotherhood amongst all the people of India.

Ans)c

Exp) Option cis correct.

Justice means equal treatment of all citizens without any social, economic and political distinction. Social justice
denotes the equal treatment of all citizens without any social distinction based on caste, colour, race, religion,
sex. Economic justice denotes the non-discrimination between people on the basis of economic factors. It
involves the elimination of glaring inequalities in wealth, income and property. Political justice implies that all
citizens should have equal political rights, equal access to all political offices and equal voice in the government.
Source: https://ncert.nic.in/ncerts/1/kepsl04.pdf

Laxmikanth Indian polity 6" edition page 124 (Pdf)

Q.17) Which one of the following statements correctly describes the term 'socialism’ with Indian
characteristics?

a) It involves the nationalization of all key industries.
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